

Carleman Estimation for One-Dimensional Higher Order Viscous Camassa-Holm Equation

Xiaofeng Shi*

Nonlinear Scientific Research Center, Faculty of Science, Jiangsu University, Zhenjiang, Jiangsu 212013, China
 (Received 12 March 2019, accepted 10 June 2019)

Abstract: In this paper, we establish a global Carleman estimate for the higher-order linear Camassa-Holm equation, which can be obtained by combining the inequality for the elliptic operator with the one of parabolic operator. Based on the estimate, we can follow up on its controllability, observability and unique continuation property in the future.

Keywords: Higher order; Viscous Camassa-Holm equation; Carleman estimation

1 Introduction

The Camassa-Holm(CH) equation describes the unidirectional propagation of waves at the free surface of shallow water under the influence of gravity. In the dispersionless limit, the CH equation is given by

$$y_t - y_{xxt} = -3yy_x + 2y_x y_{xx} + yy_{xxx},$$

where the fluid velocity vector y is a function of position $x \in \mathbb{R}$ and time $t \in \mathbb{R}$.

The formulation of the higher-order CH equation was recently derived by Coclite, Holden and Karlsen [1]

$$\begin{cases} B_k(y, y) := A_k^{-1} C_k(y) - yy_x, \\ A_k(y) := \sum_{j=0}^k (-1)^j \partial_x^{2j} y, \\ C_k(y) := -y A_k(\partial_x y) + A_k(y \partial_x y) - 2\partial_x y A_k(y). \end{cases} \quad (1)$$

When $k = 2$, system (1) becomes

$$(y - y_{xx} + y_{xxxx})_t - 3yy_x + 2y_x y_{xx} + yy_{xxx} - 2y_x y_{xxxx} - yy_{xxxxx} = 0.$$

In recent years, many researchers extend the studies of the CH equation to the generalized CH equation, higher-order CH equation, and so on. Tian, Shen and Ding gave the optimal control of the viscous CH equation under the boundary condition and proved the existence and uniqueness of optimal solution to the viscous CH equation in a short interval [2]. Using geometrical methods, higher order CH equation has been treated by Constantin and Kolev [3].

Although some researchers have begun to pay attention to the controllability of CH equation [4, 5], it is still in its infancy and remains open. In this paper, we will establish the Carleman estimates for some future researches.

We consider the higher order CH equation with viscous term on a bounded interval

$$\begin{cases} (y - y_{xx} + y_{xxxx})_t - \gamma(y - y_{xx} + y_{xxxx})_{xx} - 3yy_x + 2y_x y_{xx} + yy_{xxx} - 2y_x y_{xxxx} - yy_{xxxxx} = 0 \text{ in } Q, \\ y(t, 0) = y(t, 1) = y_{xx}(t, 0) = y_{xx}(t, 1) = y_{xxxx}(t, 0) = y_{xxxx}(t, 1) = 0 \text{ in } (0, T), \\ y(0, x) = y_0(x), \end{cases} \quad (2)$$

where $Q = (0, T) \times (0, 1)$ and $\gamma(y - y_{xx} + y_{xxxx})_{xx}$ is the viscous term.

*Corresponding author. E-mail address: sxf961@ujs.edu.cn

Let P be higher-order linear viscous CH operator :

$$Py := (y - y_{xx} + y_{xxxx})_t - \gamma(y - y_{xx} + y_{xxxx})_{xx},$$

which is defined on

$$\mathcal{Y} = \{y \in L^2(0, T; H^6(0, 1)) \mid y(t, 0) = y(t, 1) = y_{xx}(t, 0) = y_{xx}(t, 1) = y_{xxxx}(t, 0) = y_{xxxx}(t, 1) = 0\}.$$

Let L_E be the fourth-order elliptic operator: $L_E y := y_{xxxx}$, which is defined on

$$\mathcal{Y}_1 = \{y \in L^2(0, T; H^4(0, 1)) \mid y(t, 0) = y(t, 1) = y_{xx}(t, 0) = y_{xx}(t, 1) = 0\}.$$

Let L_P be the second-order parabolic operator: $L_P y := y_t - \gamma y_{xx}$, which is defined on

$$\mathcal{Y}_2 = \{y \in L^2(0, T; H^2(0, 1)) \mid y(t, 0) = y(t, 1) = y_x(t, 0) = y_x(t, 1) = 0\}.$$

In this paper, we make the following assumptions:

(i) Let ω_0 be a nonempty open set of the interval $(0, 1)$. For ω_0 , we choose other two subintervals ω_1 and ω , satisfying $\omega_0 \subset \omega_1 \subset \omega$. $Q^\omega = \omega \times (0, T)$, $Q^{\omega_0} = \omega_0 \times (0, T)$, $Q^{\omega_1} = \omega_1 \times (0, T)$;

(ii) Choose $\psi(x) \in C^\infty[0, 1]$; $\forall x \in [0, 1]$, $\psi > 0$; $\psi'(0) = \psi'(1) = 0$; $\|\psi\|_{C[0,1]} = 1$ and let $a(x, t) = \frac{e^{\mu(\psi+3)} - e^{5\mu}}{t(T-t)}$, $\phi(x, t) = \frac{e^{\mu(\psi+3)}}{t(T-t)}$, $\eta(x, t) = \lambda a(x, t)$ for any given parameters $\mu, \lambda > 0$. Here, $\eta(x, t)$ is the weight function, which is very important in Carleman estimate.

Carleman estimate is an L^2 -weighted estimate with large parameters for solutions to partial differential equations (PDEs). Carleman estimates were first established by Carleman for a two-dimensional elliptic equation [6]. Local and global Carleman estimates play a central role in the study of partial differential equations regarding questions such as controllability, observation and unique continuation. At present, there are many results about Carleman estimates of partial differential equations, such as transport equation [7], second order parabolic equation [8], second order wave equation [9], second order Schrödinger equation [10], Korteweg-de Vries equation [11], and so on.

Before establishing estimates, we need to know the well-posedness results for solutions of the higher-order CH equation. Tian, Zhang and Xia have proved the local well-posedness of the higher-order CH equation and obtained the global existence of solution [12]. Here, we only list their results.

Proposition 1 [12, Theorem 2.1] Given $u_0 \in H^s(\mathbb{R})$, $s > \frac{9}{2}$, and there existing $T > 0$ depending on $\|u_0\|_{H^s}$, then Eq. (2) admits a unique solution $u = u(x, t)$, such that $u \in C([0, T], H^s(\mathbb{R})) \cap C([0, T], H^{s-1}(\mathbb{R}))$.

Moreover, the map $u_0 \in H^s(\mathbb{R}) \rightarrow u \in C([0, T], H^s(\mathbb{R})) \cap C([0, T], H^{s-1}(\mathbb{R}))$ is continuous.

Proposition 2 [12, Theorem 4.1] Let $u_0 \in H^s(\mathbb{R})$, $s > \frac{9}{2}$, then the corresponding strong solution $u = u(x, t)$ to Eq. (2) with the initial u_0 exists globally in time.

The rest of this paper is organized as follows. In Section 2.1 and Section 2.2, we establish Carleman estimations of the fourth-order elliptic operator and the second-order parabolic operator respectively. In Section 2.3, we obtain a global Carleman estimate for the higher-order linear CH operator.

2 Carleman estimate of the higher-order linear CH operator

2.1 Carleman estimate of the fourth-order elliptic operator

Theorem 1 There exist constants $\mu_0, C(\psi)$, $C > 0$, such that the following estimation holds:

$$\begin{aligned} & \int_Q \left(\frac{1}{\lambda\mu\phi} \theta^2 y_{xxxx}^2 + \lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xx}^2 + \lambda\mu\phi\theta^2 y_{xxx}^2 \right) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q_\omega} (\lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2) dxdt \right] \end{aligned} \quad (3)$$

for $\mu > \mu_0$, $\lambda > \mu C(\psi)(T + T^2)$.

In order to prove Theorem 1, we need the following lemmas.

Lemma 1 Let $L_E y = y_{xxxx} = f$, $\theta(x, t) = e^{\eta(x,t)}$, $u = \theta y = e^\eta y$, then

$$\theta f = u_t + A_0 u + A_1 u_x + A_2 u_{xx} + A_3 u_{xxx} + u_{xxxx} = I_1(u) + I_2(u) + R(u), \tag{4}$$

where

$$A_0 = \eta_x^4 + 4\eta_x \eta_{xx} - 6\eta_x^2 \eta_{xx} + 3\eta_{xx}^2 - \eta_{xxxx}, \quad A_1 = -4\eta_x^3 + 12\eta_x \eta_{xx} - 4\eta_{xxx}$$

$$A_2 = 6\eta_x^2 - 6\eta_{xx} A_3 = -4\eta_x$$

We note that: $I_1(u) = B_0 u + B_1 u_x + B_3 u_{xxx}$, $I_2(u) = C_0 u + C_1 u_x + B_2 u_{xx} + u_{xxxx}$, where the coefficients $B_0, C_0, B_1, C_1, B_2, B_3$ are undetermined functions such as A_i .

Lemma 2 The product of $I_1(u)$ and $I_2(u)$ in formula (2.2) can be expressed as:

$$2I_1 \cdot I_2 = u^2 \{ \cdot \} + u_x^2 \{ \cdot \} + u_{xx}^2 \{ \cdot \} + u_{xxx}^2 \{ \cdot \} + \{ \cdot \}_x + \{ \cdot \}_{xx} + \{ \cdot \}_{xxx} + \{ \cdot \}_{xxxx}. \tag{5}$$

The idea comes from [13, 14]. Here we omit the proof process.

We choose: $B_0 = -4\eta_x^2 \eta_{xx}$, $B_1 = -4\eta_x^3$, $B_2 = 6\eta_x^2$, $B_3 = -4\eta_x$, $C_0 = \eta_x^4$, $C_1 = 12\eta_x \eta_{xx}$, then

$$u^2 \{ \cdot \} = u^2 \{ 2\eta_x^6 \eta_{xx} + 96\eta_x^2 \eta_{xx}^3 + 48\eta_x^3 \eta_{xx} \eta_{xxx} - 8\eta_x^2 \eta_{xxxx} + 20\eta_x^4 \eta_{xxxx} - 16\eta_{xxx}^3 - 480\eta_{xx} \eta_{xxx}^2 - 320\eta_{xx}^2 \eta_{xxxx} - 320\eta_x \eta_{xxx} \eta_{xxxx} - 160\eta_x \eta_{xx} \eta_{xxxxx} - 16\eta_x^2 \eta_{xxxxxx} \}$$

$$u_x^2 \{ \cdot \} = u_x^2 \{ 12\eta_x^4 \eta_{xx} - 576\eta_x \eta_{xx} \eta_{xxx} - 192\eta_{xx}^3 - 96\eta_x^2 \eta_{xxxx} \}$$

$$u_{xx}^2 \{ \cdot \} = u_{xx}^2 \{ 124\eta_x^2 \eta_{xx} \}, \quad u_{xxx}^2 \{ \cdot \} = u_{xxx}^2 \{ 4\eta_{xx} \}$$

$$\{ \cdot \}_x + \{ \cdot \}_{xx} + \{ \cdot \}_{xxx} + \{ \cdot \}_{xxxx} = \{ G \}_x = \{ u_x^2 [-16\eta_x^5 + 96\eta_x \eta_{xx}^2 + 48\eta_x^2 \eta_{xx}] - 4\eta_x u_{xxx}^2 - 8\eta_x^3 u_x u_{xxx} \}_x$$

$$R(u) = R_0 u + R_1 u_x + R_2 u_{xx},$$

where $R_0 = 4\eta_x \eta_{xx} - 2\eta_x^2 \eta_{xx} + 3\eta_{xx}^2 - \eta_{xxxx}$, $R_1 = -4\eta_{xxx}$, $R_2 = -6\eta_{xx}$.

Now, Theorem 2.1 can be proved in the following.

Proposition 3 There exist constants $\mu_0, C(\psi) > 0$, such that the following estimate :

$$\int_Q (I_1^2 + I_2^2 + 2\lambda^7 \mu^8 \phi^7 \psi_x^8 u^2 + 12\lambda^5 \mu^6 \phi^5 \psi_x^6 u_x^2 + 124\lambda^3 \mu^4 \phi^3 \psi_x^4 u_{xx}^2 + 4\lambda \mu^2 \phi \psi_x^2 u_{xxx}^2) dxdt$$

$$+ \int_0^T [G(1, t) - G(0, t)] dt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_Q (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2) dxdt \right] \tag{6}$$

holds for $\mu > \mu_0, \lambda > \mu C(\psi)(T + T^2)$.

Proof. According to the definition and properties of the weight function $\eta(x, t)$, we can estimate the items in above one by one.

$$u^2 \{ \cdot \} = u^2 \{ 2\lambda^7 \mu^8 \phi^7 \psi_x^8 + D_0 \}, \quad |D_0| \leq C(\psi) \lambda^7 \mu^7 \phi^7;$$

$$u_x^2 \{ \cdot \} = \{ 12\lambda^5 \mu^6 \phi^5 \psi_x^6 + D_1 \} u_x^2, \quad |D_1| \leq C(\psi) \lambda^5 \mu^5 \phi^5;$$

$$u_{xx}^2 \{ \cdot \} = u_{xx}^2 \{ 124\eta_x^2 \eta_{xx} \} = u_{xx}^2 \{ 124\lambda^3 \mu^4 \phi^3 \psi_x^4 + D_2 \}, \quad |D_2| \leq C(\psi) \lambda^3 \mu^3 \phi^3;$$

$$u_{xxx}^2 \{ \cdot \} = u_{xxx}^2 \{ 4\eta_{xx} \} = u_{xxx}^2 \{ 4\lambda \mu^2 \phi \psi_x^2 + D_3 \}, \quad |D_3| \leq C(\psi) \lambda \mu \phi.$$

Similarly, we have from $R(u) = R_0 u + R_1 u_x + R_2 u_{xx}$ that

$$|R(u)| \leq C(\psi) (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2).$$

We note that: $\int_Q \{G\}_x dxdt = \int_0^T \int_0^1 \{G\}_x dxdt = \int_0^T [G(1,t) - G(0,t)] dt$, $G(1,t) = G_1(1,t) + G_2(1,t)$.

According to the definition and properties of the weight function $\eta(x,t)$, $a(x,t)$, $\phi(x,t)$ and the initial values

$$y(t,0) = y(t,1) = y_{xx}(t,0) = y_{xx}(t,1) = y_{xxxx}(t,0) = y_{xxxx}(t,1) = 0; \quad \psi_x(1) < 0,$$

we can get that

$$G_1(1,t) = \{-4\eta_x u_{xxx}^2 - 8\eta_x^3 u_x u_{xxx}\}(1,t) \geq \{-4\lambda^5 \mu^5 \phi^5 \psi_x^5 u_x^2 - 8\lambda \mu \phi \psi_x u_{xxx}^2\}(1,t) \geq 0,$$

$$G_2(1,t) = \{-16\eta_x^5 + 96\eta_x \eta_{xx}^2 + 48\eta_x^2 \eta_{xx}\} u_x^2(1,t) \geq 0.$$

Thus, $G(1,t) \geq 0$. Similarly, $-G(0,t) \geq 0$. Then

$$\int_Q \{G\}_x dxdt = \int_0^T [G(1,t) - G(0,t)] dt \geq 0. \quad (7)$$

Since $\theta f = I_1(u) + I_2(u) + R(u)$, we have

$$\int_Q (I_1^2 + I_2^2 + 2I_1 I_2) dxdt = \int_Q |I_1(u) + I_2(u)|^2 dxdt = \int_Q |\theta f - R(u)|^2 dxdt. \quad (8)$$

Combining (5), (7) and (8) and all estimates in Proposition 3, there exists a constant C such that (7) holds. This completes the proof of Proposition 3. ■

Proposition 4 *There exist constants $\mu_0, C(\psi), C > 0$, such that*

$$\begin{aligned} & \int_Q (I_1^2 + I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \right] \end{aligned} \quad (9)$$

holds for $\mu > \mu_0, \lambda > \mu C(\psi)(T + T^2)$.

Proof. In fact, by (3), we have

$$\int_Q (I_1^2 + I_2^2) dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_Q (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2) dxdt \right] \quad (10)$$

and

$$\begin{aligned} & \int_Q (\lambda^7 \mu^8 \phi^7 \psi_x^8 u^2 + \lambda^5 \mu^6 \phi^5 \psi_x^6 u_x^2 + \lambda^3 \mu^4 \phi^3 \psi_x^4 u_{xx}^2 + \lambda \mu^2 \phi \psi_x^2 u_{xxx}^2) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_Q (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2) dxdt \right]. \end{aligned} \quad (11)$$

Noticing that $|\psi_x| > 0, \forall x \in (0,1) \setminus \omega_0$, we can choose $\mu_0 = C(\psi) + 1$ such that

$$\begin{aligned} & \int_{Q \setminus Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \\ & \leq C(\psi) \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \right], \end{aligned}$$

which holds for $\mu > \mu_0$. That is to say that the following estimate holds.

$$\begin{aligned} & \int_Q (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \right]. \end{aligned} \quad (12)$$

Then it follows from (10) that

$$\int_Q (I_1^2 + I_2^2) dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \right]. \quad (13)$$

In view of (12) and (13), we obtain the desired result of this proposition. ■

Proposition 5 Under the same conditions in Proposition 3, we achieve the following estimate:

$$\begin{aligned} & \int_Q (I_1^2 + I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2) dxdt \right]. \end{aligned} \quad (14)$$

Proof. We select a characteristic function $\chi \equiv 1, \forall x \in \omega_0; \chi \equiv 0, \forall x \in \omega_1 \setminus \omega_0$. Using partial integration, we have

$$\begin{aligned} \int_{Q^{\omega_0}} \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt &= \int_{Q^{\omega_0}} \chi \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt \\ &\leq \int_{Q^{\omega_1}} \chi \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt \\ &= 3\lambda^3 \mu^3 \int_{Q^{\omega_1}} \phi \phi_x^2 u_x^2 dxdt - \int_{Q^{\omega_1}} \chi \lambda^3 \mu^3 \phi^3 u_x u_{xxx} dxdt \end{aligned}$$

Noticing that $\psi \in C_0^\infty(0, 1), \omega_0 \subset \omega_1 \subset \omega$, and applying Young's inequality, we can obtain that: for arbitrary $\varepsilon_1, \delta_1 > 0$, there exist constants $C, C(\varepsilon_1)$ and $C(\delta_1)$ such that

$$\begin{aligned} \int_{Q^{\omega_0}} \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt &\leq C \int_{Q^{\omega_1}} \lambda^3 \mu^5 \phi^3 u_x^2 dxdt + \varepsilon_1 \int_{Q^{\omega_1}} \lambda \mu \phi u_{xxx}^2 dxdt + C(\varepsilon_1) \int_{Q^{\omega_1}} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt \\ &\leq C \int_Q \lambda^5 \mu^7 \phi^5 u^2 dxdt + \varepsilon_1 \int_Q \lambda \mu \phi u_{xxx}^2 dxdt + C(\varepsilon_1) \int_{Q^{\omega_1}} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt \end{aligned} \quad (15)$$

and

$$\int_{Q^{\omega_1}} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt \leq C \int_Q \lambda^5 \mu^7 \phi^5 u^2 dxdt + \delta_1 \int_Q \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt + C(\delta_1) \int_{Q^\omega} \lambda^7 \mu^7 \phi^7 u^2 dxdt. \quad (16)$$

In the same way, for arbitrary $\varepsilon_2, \delta_2 > 0$, there exist constants $C, C(\varepsilon_2)$ and $C(\delta_2)$ such that

$$\int_{Q^{\omega_0}} \lambda \mu \phi u_{xxx}^2 dxdt \leq C \int_Q \lambda \mu^3 \phi u_{xx}^2 dxdt + \varepsilon_2 \int_Q \frac{1}{\lambda \mu \phi} u_{xxxx}^2 dxdt + C(\varepsilon_2) \int_{Q^{\omega_1}} \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt \quad (17)$$

and

$$\int_{Q^{\omega_1}} \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt \leq C \int_Q \lambda^3 \mu^5 \phi^3 u_x^2 dxdt + \delta_2 \int_Q \lambda \mu \phi u_{xxx}^2 dxdt + C(\delta_2) \int_{Q^\omega} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt. \quad (18)$$

For $\int_Q \frac{1}{\lambda \mu \phi} u_{xxxx}^2 dxdt$, by $I_2(u) = C_0 u + C_1 u_x + B_2 u_{xx} + u_{xxxx}$, we can obtain

$$\begin{aligned} \int_Q \frac{1}{\lambda \mu \phi} u_{xxxx}^2 dxdt &= \int_Q \frac{1}{\lambda \mu \phi} (I_2(u) - C_0 u - C_1 u_x - B_2 u_{xx}^2) dxdt \\ &\leq C \int_Q (I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2) dxdt. \end{aligned} \quad (19)$$

Substituting (18) and (19) into (17), the following result can be obtained:

$$\begin{aligned} \int_{Q^{\omega_0}} \lambda \mu \phi u_{xxx}^2 dxdt &\leq C \int_Q \lambda \mu^3 \phi u_{xx}^2 dxdt + \varepsilon_2 \cdot C \int_Q (I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2) dxdt \\ &\quad + C(\varepsilon_2) \cdot C \int_Q \lambda^3 \mu^5 \phi^3 u_x^2 dxdt + C(\varepsilon_2) \cdot \delta_2 \int_Q \lambda \mu \phi u_{xxx}^2 dxdt \\ &\quad + C(\varepsilon_2) \cdot C(\delta_2) \int_{Q^\omega} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt. \end{aligned} \quad (20)$$

From (15), (20), (9) and (16), we can derive

$$\begin{aligned} & \int_Q (I_1^2 + I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2 + \lambda^3 \mu^3 \phi^3 u_{xx}^2 + \lambda \mu \phi u_{xxx}^2) dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2) dxdt \right] + (C + C(\varepsilon_1) \cdot C) \int_Q \lambda^5 \mu^7 \phi^5 u^2 dxdt \\ & \quad + C(\varepsilon_2) \cdot C \int_Q \lambda^3 \mu^5 \phi^3 u_x^2 dxdt + (C(\varepsilon_1) \cdot \delta_1 + \varepsilon_2 \cdot C) \int_Q \lambda^3 \mu^3 \phi^3 u_{xx}^2 dxdt + C \int_Q \lambda \mu^3 \phi u_{xxx}^2 dxdt \quad (21) \\ & \quad + (C(\varepsilon_2) \cdot \delta_2 + \varepsilon_1) \int_Q \lambda \mu \phi u_{xxx}^2 dxdt + \varepsilon_2 \cdot C \int_Q (I_2^2 + \lambda^7 \mu^7 \phi^7 u^2 + \lambda^5 \mu^5 \phi^5 u_x^2) dxdt \\ & \quad + C(\varepsilon_1) \cdot C(\delta_1) \int_{Q^\omega} \lambda^7 \mu^7 \phi^7 u^2 dxdt + C(\varepsilon_2) \cdot C(\delta_2) \int_{Q^\omega} \lambda^5 \mu^5 \phi^5 u_x^2 dxdt. \end{aligned}$$

In (21), if we select $\varepsilon_1, \varepsilon_2, \delta_1, \delta_2$ sufficiently small and λ sufficiently large, we can get (14). The proof of Proposition 5 is completed. ■

Adding the left and the right of (14) and (19) separately, as well as returning u to θy , we finish the proof of Theorem 1.

2.2 Carleman estimate of the second-order parabolic operator

Theorem 2 *There exist $\mu_0, C(\psi) > 0$ such that*

$$\int_Q \left[\frac{1}{\lambda \mu \phi} \theta^2 (y_t^2 + y_{xx}^2) + \lambda^3 \mu^3 \phi^3 \theta^2 y^2 + \lambda \mu \phi \theta^2 y_x^2 \right] dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 y^2 dxdt \right] \quad (22)$$

holds for $\mu > \mu_0, \lambda > \mu C(\psi)(T + T^2)$.

Remark 1 *We will continue to use all the notations and hypothesises in the previous subsection.*

Lemma 3 *Let $y_t - \gamma y_{xx} = f$ and $u = \theta y = e^\eta y$, then*

$$\theta f = u_t + (-\gamma \eta_x^2 - \eta_t + \gamma \eta_{xx}) u + 2\gamma \eta_x u_x - u_{xx} = I_1(u) + I_2(u) + Ru,$$

where

$$I_1(u) = u_t + 2\gamma \eta_x u_x + \gamma \eta_{xx} u, I_2(u) = -\gamma \eta_x^2 u - u_{xx}, R(u) = -\eta_t u.$$

Then,

$$\begin{aligned} I_{1,1} &= \gamma \int_0^T \int_0^1 \eta_x \eta_{xt} u^2, I_{1,2} = - \int_0^T \int_0^1 u_t u_{xx} = 0, I_{2,1} = 3\gamma^2 \int_0^T \int_0^1 \eta_x^2 u^2 \eta_{xx}, \\ I_{2,2} &= \gamma \int_0^T \int_0^1 \eta_{xx} u_x^2, I_{3,1} = -\gamma^2 \int_0^T \int_0^1 \eta_x^2 \eta_{xx} u^2, I_{3,2} = \gamma \left(\int_0^T \int_0^1 \eta_{xx} u_x^2 - \frac{1}{2} \int_0^T \int_0^1 \eta_{xxxx} u^2 \right), \\ (I_1 u, I_2 u)_2 &= \sum_{i=1}^3 \sum_{j=1}^2 I_{i,j} = I(u) + I(u_x), \end{aligned}$$

where

$$I(u) = \gamma \iint (\eta_x \eta_{xt} + (3 - \gamma) \eta_x^2 \eta_{xx} - \frac{1}{2} \eta_{xxxx}) u^2, I(u_x) = 2\gamma \iint \eta_{xx} u_x^2.$$

The proof of Theorem 2 is similar to the discussion framework of Theorem 1. For simplicity, we only list the main results in this subsection. We can obtain the following estimates

$$\int_Q \left[I_1^2 + I_2^2 + (3\gamma - \gamma^2) \lambda^3 \mu^4 \phi^3 \psi_x^4 u^2 + 2\gamma \lambda \mu^2 \phi \psi_x^2 u_x^2 \right] dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_Q (\lambda^3 \mu^3 \phi^3 u^2 + \lambda \mu \phi u_x^2) dxdt \right],$$

$$\int_Q \left(I_1^2 + I_2^2 + \lambda^3 \mu^3 \phi^3 u^2 + \lambda \mu \phi u_x^2 \right) dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^{\omega_0}} (\lambda^3 \mu^3 \phi^3 u^2 + \lambda \mu \phi u_x^2) dxdt \right],$$

$$\int_Q \left(I_1^2 + I_2^2 + \lambda^3 \mu^3 \phi^3 u^2 + \lambda \mu \phi u_x^2 \right) dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 u^2 dxdt \right]. \tag{23}$$

By the similar argument as (19), we can deduce from the definition of I_1 and I_2 that

$$\int_Q \frac{1}{\lambda \mu \phi} u_t^2 dxdt = \int_Q \frac{1}{\lambda \mu \phi} (I_1 - 2\gamma \eta_x u_x - \gamma \eta_{xx} u)^2 dxdt \leq C \int_Q (I_1^2 + \lambda \mu^3 \phi u^2 + \lambda \mu \phi u_x^2) dxdt, \tag{24}$$

$$\int_Q \frac{1}{\lambda \mu \phi} u_{xx}^2 dxdt = \int_Q \frac{1}{\lambda \mu \phi} (I_2 + \gamma \eta_x^2 u)^2 dxdt \leq C \int_Q (I_2^2 + \lambda^3 \mu^3 \phi^3 u^2) dxdt. \tag{25}$$

Combining (23)-(25), we derive

$$\int_Q \left[\frac{1}{\lambda \mu \phi} (u_t^2 + u_{xx}^2) + \lambda^3 \mu^3 \phi^3 u^2 + \lambda \mu \phi u_x^2 \right] dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 u^2 dxdt \right].$$

By substituting θy for u , we can also get (22).

2.3 Carleman estimate of higher-order linear CH operator

In this section, based on the above estimates, we shall establish the Carleman estimate for higher-order linear CH operator:

$$Py := (y - y_{xx} + y_{xxxx})_t - \gamma(y - y_{xx} + y_{xxxx})_{xx}.$$

Theorem 3 *There exist constants $\mu_0, C(\psi), C > 0$ such that*

$$\int_Q \left(\frac{1}{\lambda \mu \phi} \theta^2 y_{xxxxx}^2 + \lambda \mu \phi \theta^2 y_{xxxxx}^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xxxx}^2 + \lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xx}^2 + \lambda \mu \phi \theta^2 y_{xxx}^2 \right) dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} (\lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2) dxdt \right] \tag{26}$$

for $\mu > \mu_0$ and $\lambda > \mu C(\psi)(T + T^2)$.

Proof. Let $y - y_{xx} + y_{xxxx} = u$, then $Py = f$ can be written in the following forms:

$$\begin{cases} u_t - \gamma u_{xx} = f, \\ u(t, 0) = u(t, 1) = 0 \end{cases} \tag{27}$$

and

$$\begin{cases} y_{xxxx} = u - y + y_{xx}, \\ y(t, 0) = y(t, 1) = y_{xx}(t, 0) = y_{xx}(t, 1) = 0. \end{cases} \tag{28}$$

We shall establish two Carleman estimates for the elliptic equation and the parabolic equation with the same weights. Then we combine the two Carleman estimates into a single one for higher-order linear viscous CH operator. A similar analysis for a coupled system of elliptic-hyperbolic equations can be found in [15].

By applying the results of Theorem 1 and Theorem 2 to y in (28) and u in (27) respectively, we can get:

$$\int_Q \left(\frac{1}{\lambda \mu \phi} \theta^2 y_{xxxx}^2 + \lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xx}^2 + \lambda \mu \phi \theta^2 y_{xxx}^2 \right) dxdt \leq C \left[\int_Q \theta^2 |u - y + y_{xx}|^2 dxdt + \int_{Q^\omega} (\lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2) dxdt \right] \tag{29}$$

and

$$\int_Q \left[\frac{1}{\lambda\mu\phi} \theta^2 (u_t^2 + u_{xx}^2) + \lambda^3 \mu^3 \phi^3 \theta^2 u^2 + \lambda\mu\phi \theta^2 u_x^2 \right] dxdt \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 u^2 dxdt \right]. \quad (30)$$

Adding the left and the right sides in (29) and (30) respectively, we obtain

$$\begin{aligned} & \int_Q \left[\frac{1}{\lambda\mu\phi} \theta^2 (u_t^2 + u_{xx}^2) + \lambda^3 \mu^3 \phi^3 \theta^2 u^2 + \lambda\mu\phi \theta^2 u_x^2 + \frac{1}{\lambda\mu\phi} \theta^2 y_{xxxx}^2 \right. \\ & \quad \left. + \lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xx}^2 + \lambda\mu\phi \theta^2 y_{xxx}^2 \right] dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_Q \theta^2 |u - y + y_{xx}|^2 dxdt \right. \\ & \quad \left. + \int_{Q^\omega} (\lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 u^2) dxdt \right]. \end{aligned} \quad (31)$$

The term $\int_Q \theta^2 |u - y + y_{xx}|^2 dxdt$ at the right side of (31) can be absorbed by the left side

$$\begin{aligned} & \int_Q \left[\frac{1}{\lambda\mu\phi} \theta^2 (u_t^2 + u_{xx}^2) + \lambda^3 \mu^3 \phi^3 \theta^2 u^2 + \lambda\mu\phi \theta^2 u_x^2 + \frac{1}{\lambda\mu\phi} \theta^2 y_{xxxx}^2 \right. \\ & \quad \left. + \lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 y_{xx}^2 + \lambda\mu\phi \theta^2 y_{xxx}^2 \right] dxdt \\ & \leq C \left[\int_Q \theta^2 f^2 dxdt + \int_{Q^\omega} (\lambda^7 \mu^7 \phi^7 \theta^2 y^2 + \lambda^5 \mu^5 \phi^5 \theta^2 y_x^2 + \lambda^3 \mu^3 \phi^3 \theta^2 u^2) dxdt \right]. \end{aligned} \quad (32)$$

Since $y_{xxxx} = u - y + y_{xx}$, we can deduce

$$\begin{aligned} & \int_Q \frac{1}{\lambda\mu\phi} \theta^2 y_{xxxx}^2 dxdt = \int_Q \frac{1}{\lambda\mu\phi} \theta^2 (u - y + y_{xx})_{xx}^2 dxdt \leq \int_Q \frac{1}{\lambda\mu\phi} \theta^2 (u_{xx}^2 + y_{xx}^2 + y_{xxxx}^2) dxdt, \\ & \int_Q \lambda\mu\phi \theta^2 y_{xxxx}^2 dxdt = \int_Q \lambda\mu\phi \theta^2 (u - y + y_{xx})_{xx}^2 dxdt \leq \int_Q \lambda\mu\phi \theta^2 (u_{xx}^2 + y_{xx}^2 + y_{xxxx}^2) dxdt, \\ & \int_Q \lambda^3 \mu^3 \phi^3 \theta^2 y_{xxxx}^2 dxdt = \int_Q \lambda^3 \mu^3 \phi^3 \theta^2 (u - y + y_{xx})_{xx}^2 dxdt \leq \int_Q \lambda^3 \mu^3 \phi^3 \theta^2 (u^2 + y^2 + y_{xx}^2) dxdt, \\ & \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 u^2 dxdt \leq \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 (y^2 + y_{xx}^2 + y_{xxxx}^2) dxdt \end{aligned}$$

and

$$\int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 y_{xxxx}^2 dxdt \leq \int_{Q^\omega} \lambda^3 \mu^3 \phi^3 \theta^2 (u^2 + y^2 + y_{xx}^2) dxdt.$$

Combining the above five estimates, we can obtain from (32) that (26) holds. The proof of Theorem 3 is completed. ■

3 Conclusion

In this paper, based on the Carleman estimates of the elliptic and parabolic operators, we develop a global Carleman estimate for the higher order viscous CH operator. This global estimate has a complete structure and we can find that all the high-order derivatives can be constrained by the control term and the low-order derivatives in a local interval. With Carleman estimates, we can consider the controllability, observation and unique continuation property of the higher-order viscous CH equation in the future.

Acknowledgements

This research is supported by the National Natural Science Foundation of China (Nos: 11171135, 71690242 and 11731014).

References

- [1] G.M. Coclite, H. Holden, K.H. Karlsen, Well-posedness of higher-order CH equations, *J. Differ. Equations* 246 (2009) 929-963.
- [2] L. Tian, C. Shen, D. Ding, Optimal control of the viscous CH equation, *Nonlinear Anal-Real* 10 (2009) 519-530.
- [3] A. Constantin, B. Kolev, Hk-metrics on the diffeomorphism group of the circle, *J. Nonlinear Math. Phy.* 10 (2003) 424-430.
- [4] O. Glass, Controllability and asymptotic stabilization of the CH equation, *J. Differ. Equations* 245 (2008) 1584-1615.
- [5] D. Mitra, Local null controllability of viscous CH equation, *J. Evol. Equ.* 18 (2018) 627-657.
- [6] T. Carleman, Sur un probleme d'unicite pour les systemes d'equations aux derivees partielles a deux variables independentes, *Ark. Mat. Astr. Fys.* 2B (1939) 1-9.
- [7] O.Y. Imanuvilov, M. Yamamoto. *Carleman estimate for a parabolic equation in a Sobolev space of negative order and its applications*. Control of Nonlinear Distributed Parameter Systems (New York: Dekker) (2001) 113-137.
- [8] A.V. Fursikov, Y. Imanuvilov, *Controllability of evolution equations*, Seoul: Seoul National University Research Institute of Mathematics Global Analysis Research Center (1996).
- [9] X. Fu, J. Yong, X. Zhang, Exact controllability for multidimensional semilinear hyperbolic equations, *SIAM J. Control Optim.* 46 (2007) 1578-1614.
- [10] L.H. Chen, H.C. Chang, Nonlinear waves on liquid film surfaces-II. Bifurcation analyses of the long-wave equation, *Chem. Eng. Sci.* 41 (1986) 2477-2486.
- [11] M. Chen, P. Gao, A new unique continuation property for the Korteweg-de-Vries equation, *Bull. Aust. Math. Soc.* 90 (2014) 283-294.
- [12] L. Tian, P. Zhang, L. Xia, Global existence for the higher-order CH shallow water equation, *Nonlinear Anal.* 74 (2011) 2468-2474.
- [13] P. Gao, A new global Carleman estimate for the one-dimensional Kuramoto-Sivashinsky equation and applications to exact controllability to the trajectories and an inverse problem, *Nonlinear Anal.*, 117 (2015) 133-147.
- [14] E. Cerpa, A. Mercado. Local exact controllability to the trajectories of the 1-D Kuramoto-Sivashinsky equation. *J. Differ. Equations*, 250: (2011), 2024-2044.
- [15] X. Zhang, E. Zuazua, A sharp observability inequality for Kirchhoff plate systems with potentials, *Comput. Appl. Math.* 25 (2006) 353-373.